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x = '382"

for i in x:

for 3 in x:
if 3 = 1:
for k in x:
if k !I'= 1 and k = j:
print (i, j, k, sep='"', end=',"')

ey
382,328,832,823,238,283,

Glel 7)) copmsgin |y pj aelp (29,5 -7

x = 3
y = 2022
z = 1401

tl=5+vy //2%x
t2 = z - 1396

print('tl = ', t1)
print('t2 = ', t2)
result = tl == t2
print ('result = ', result);
print ('Power = ', 2 ** x ** 2)
print ('Floor = ', (1398-1401) // 2)
print ('minimum = ', min(y, 2z))
=
tl =5
t2 =5
result = True
Power = 512
Floor = -2

minimum = 1401

Gloal V) Sz 4l (29,5 L YYAY ol o (] (609,9 ST (A=Y

gl
1382
(Gloel ) oo o plxl (6,5 ax 55 asliy aS dws g alex SO 0 (0
&l
Sgus o0 0010 g lod g oud ais Ll 0,bg0 (60959 due
n = int (input ('Enter n:"'"))
ifn>0
r =20
p=1

while n > O:
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a = int (input ('Enter
b = int (input ('Enter
c = int (input ('Enter

if a < 0 or b < 0 or

print ('YES')
else:
print ('NO'")

@AmirkabirJ
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< 0

S Ol [, NO auls oo jganl 8 50
&S ol YES als it 4,3,5 ©39,9 slacl I1: Jle
S ol NO a5 st 10,20,20 ©99,5 dlacl ST Jle

&b

print ('Error in inputs')

else:
if (a ** 2 + b ** 2 == ¢ ** 2) \
or (a ** 2 4+ ¢ ** 2 == Db **x 2) \
or (b ** 2 4+ ¢ ** 2 == g ** 2)

F Y axan



WS B0 8 5160959 Hlaie 4 1) N s s Sue AS ds g (gl Al -9

A8 Ol g aibe | (Al w2 N ogs Jl) NUY 745 slocl o Jol> il zg5 N sae 51
WS Ol g dwle 1) (Al p2 N ogs Joll) N LY 0,8 slacl ggamme il 0,3 N sae 514
Dgd ol 384@4»,{4.79;:.25°m dlme 2%4%6*8 O 5 Jol> il 8 (04,5 sue STl
D9 ol 16 i ams g oo dcwlne 143+5H7 san Jool> sl 7 (539,9 sae 51 e

—
n = int (input ('Enter n:'))
if n < 0

print ('Error in input')
eleges

=0 : # 1if n 1s even

p =1

for 1 in range (2, n+l, 2):
p=p*i

print ('product = ', p)

else: # if n 1is odd

s =0

for i in range(l, n+l, 2):
s = s + i

print ('sum = ', s)

il 3890
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import random

Ascore = 0
Bscore 0

while Ascore < 100 and Bscore < 100:

# A turn
face = 6
while face == 6:
face = random.randrange (1, 7)

print (face, end=',"'")
Ascore += face
print ("Ascore = ", Ascore)
# B turn
face = 6
while face == 6:
face = random.randrange(l, 7)
print (face, end=',"'")
Bscore += face
print ("Bscore = ", Bscore)
if Ascore > Bscore:
print ("A wins")
elif Ascore < Bscore:
print ("B wins")
else:
print ("Nobody wins")
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if s < 10:
return s
else:
return f (s)

# main 6.1..4‘ 4ol

n = int (input ("Enter n:"))
if n < 0O:
print ("Input Error")
else:
print ("Final result =", f(n))
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(Gltol B) .o g9 00 (adlieo Joxo j0 1y ) dol g (2955 —F
for i in range (1, 3):
for j in range(3, 1, -1):
for k in range (2, 3):

if i < 3J:
if jJ < k:
i =k
else:
k=1
else:
if 3 > k:
J =Kk
else:
k =73
print("i =", i, ", 3 =", 3, ", k=", k)
by (9>
i=2 ,3=2 , k=2
(Glool B) s g 1) 325 doliy (o295 —F (Glool B) s g 1) 325 4ol (2955 -0
x =0 for x in [123,723,98765,1402, 5400117]:
y = 9; n=""
while vy : for 1 in str(x):
y = 9 if int(i) % 2 == 0:
x =x + 1 n=mn-+ '0"'
if x <= 2: else:
print ("x=", x, ", y=", V) n=n+1i
else: print("n = ", int(n))
if x $ 2 !'= 0:
print ("x=", x, ", y=", y) . .
else: AAbﬁ‘5?9j>
print ("x=", x, ", y=", Vy) n = 103
break n = 703
y =y - 1 n = 90705
y /=2 n = 1000
continue n = 500011
x = x -1
print ("x=", x, ", y=", ¥)
by (29>
x=1, y=9
x=2 ,y=29
x=3,y=29
x=4 ,y=29
x=4 ,y=9
Il (380
F ol F axan
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What is the difference between "main memory" and "auxiliary memory"?

FoalS ol ghgels Ly j0 e s )l;é ol abadl> )5 0420 Sledbl o jls o s YL G ps g 05 Ll o> Lo aladl>
o 0 a9l alals o )ls Vb s b g YU yee Job oS Cenl ygunals Lol Caond aygili alidl> g, oo o 5l Sledlol ples

Gleel V) awps 708 paBes job 4y |y aidl cole ungi alipp L1,S o8 gl aoliyy Sglis oY )
What is the difference between "Object Oriented programming" and "Structured Programming"?
B9 ASl S g8 sl 4SS 4 S5 Aol p SO A 05 co o AL CSle pwugi Al (o
LA 1380 o 5 saze soliiul LB wlul l5! (Objects) Ll . (Object oriented)!,s o g asby 5o
g o asie (L] g JWE! ) sisle (DENAVIONS) 13 ) ¢ (o3lasl § 5, (pb) sl (attributes) caw wix b oo 4

Gleal V) 900 58 patsee job a1 (edile (31 9 YU el sleiley slesslas Y-
What is the difference between "Machine language" and "High Level Language"?
g 920 bl | caseiv oolw IS a5 a2 oo j9twd FeuwlS 4 a5 ol (S g ya0 51 gl ddlis culys (o) slael 5l ol allds pils ()b
g oo iy gealS o1 Il Ce (b e 50 SgaslS ol b by
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Compare "Interpreter" and "compiler"
w303 o bl 1) il 0 & YU b aaliy S s Ll
WS o0 12 0355 Rl g g s ok 1) YU il (b5 4 sl S a8 Sl el pp S e
D510 (6 S i s 0ds JiLolS el sl b dslie 1o e Jawgy el 6l >

What is the basic Components of a Computer System?
ool (ALU) Glate 5 acule s>ty Julis a5 (CPU) (655 10 00isS 3jls 5 axly -
4_154[; alasl> d.>‘5 A “5}9)> A>‘5 -f ‘605)5 J.>‘9 -V alasl> d.>‘5 =
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Write a program to get a floating number between zero and one and compute this series.
3 oolaiwl gy e g 0kilgS (63559 311, Canl SO g yho o g Sl (g00e &S |, X (g Lkl e aS o g (slawl
1ams ialed g 08,5 acnlone |y 105 (6 Jans )55 dil> SaS g i ,5S 1 &b
x3 x5 X7 x°
S =X—;+—!— +E—"'.

6!

ol
https://onlinegdb.com/fork/g6aKSeuvxM
s = 0.0
X float (input ("Enter 0.0 < x < 1.0:™))
if 0.0 < x < 1.0

term = x;
for i in range (1,21)
S = s + term
term = -1 * term * x * X
term = term / ( (2 * 1) * (2 * 1 -1))
print ("\nS =", s)
else

print ("x is not in range 0.0 to 1.0");
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Write a function to check that "all digits are prime" for its input parameter n.
sae 1 Bl aled (65,5 yiol b g N caial s dae S (438,5 L a5 a5 AlIDigitsPrime() ol 4 ol
&y e Jle sl o 3 5k 1 Hho Jlade Oy cal e 50 5 Ko Hlade wisg Sl golael T pB )l plas 51508 sy |,
Al ,S5L 1, G lade YYYFYY o YYO slocl (6l g jom jlaie VOF VY VYV slacl
Gleel Vo) ol aals 5 (o

write a program to generate 1000 random 4 digits numbers and count number of
AlIDigitsPrime( ) in these numbers

&b Slaxd Log 00,5 adei 1) Bolay Cute 03, )bz oo das Ve slawd a5 aeinsn gl alp
D20 isles |y amil g 08,5 ke |y axied Jol Ll o8] plas a5 solacl slaws AlIDigitsPrime( )

‘gl
ol asl s ol
https://onlinegdb.com/fork/utm3Gg7GA | def AllDigitsPrime( n ):
from random import randrange allprime = 1
p = 0; temp = n
for i in range(1000) while temp > 0 and allprime ==
x = randrange (1000, 10000) x = temp % 10
if AllDigitsPrime (x) : if x != 2 and x !=3 \
p=p+1 and x != 5 and x !=7
allprime = 0
print ("\n p = ", p) temp = temp // 10

return allprime

F Y axan
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23 95 O] (p p ) S e e (078258 5 WS o0 S8l (6995 GlesT] Dl & o Sae 53 a5 nj T
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This function for computer the lowest common multiple has 4 syntax errors and one logical error, find them.

3,ls Uaz aS" ouds ools dalip aols p slallas
() sl
def LCM( x, V)
if (x < y) Cool 5ls (1) aats go oles V Loz o
temp = x ¥ las
X =y
y = temp Cool 5o (1) aats go oles ¥ Loz o
(¥ sl
lem = x

while (lcm / y != 0): Consd oo X = Yooz 0 S8, ¢ 500
f ol

lem =+ x N s
return lcm (lem / y) o, eailesdl Slae a4 5LS
O sl
M|OJ&%U:+ 6L>4_,=+ sles

https://onlinegdb.com/fork/RGVOCgoOk

def LCM( x, y) : #Error 1, missing
if (x < vy) : #Error 2, missing
temp = x
X =y #Error 3, unexpected indent
y = temp
lcm = x
while (lcm % y != 0): #Error 4, use / instead of %
lcm += x #Error 5, use =+ instead of +=

return lcm

print ("LCM(5,4) = ", LCM(5,4))

#3F aman
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https://onlinegdb.com/fork/pY1KZg4pR

a =20
b = 25
c =2
def F():
global a, b, c
if (a // 10 == 1):
b =1
else:
a +=1
if (¢ > 0):
c —=1
a +=1
F()
b =1
i =1
while a <= Db :
a +=1
F()
print("i =", i, "a =", a, "b =", b, "c =", c);
i +=1
b -= 2
by 29,5
i=1, a=6, b=23, c=0
i=2,a=8,b=21, c=0
i=3,a=10, b =19, ¢ =0
i=4,a=11, b=16, c =0
i=5,a=12, b =13, ¢ =0
F 30 axan
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# https://onlinegdb.com/fork/jbomw6gfOD
def £f( n ):

pow 10
sum = 0
temp = n

while temp > O
sum = pow * sum + temp % 10
temp = temp // 10
if sum == n :
return True
else
return False

print ( "f1l = ", £(32423))
print( "f2 =", £(12431))
print( "f3 = ", £(1991))

aoliy 29,5

fl = True

£f2 = False

£f3 = True

(el ¥) (What does its function do?).Sues oo plx! 6,5 az dali p cpl @b a5 dis s > G jo (o

Y CY g P False luie ojsanl & 50 5 TIUE jaic 5g ol ol oglie Lsas STy

(Ll ©) (What is the output of this program?) > 55 0als ools aali y >g,> -V

https://onlinegdb.com/fork/YKkkMTWOuUsS

c =11
for a in range (1, ¢ - 5):
print ("\nLine", a, ":",end=' ")

for b in range(l, c + 5):
if (b < ¢ = a and b >= a):
print (b, end="'")

else:
print (" ", end='")

3gd ol Lo cwodle abold gl @ ST aoliy (29,5 doliy o>9,5
Line 1 :123456789------ Line 1
Line 2 :-2345678------- Line 2
Line 3 :--34567-------- Line 3
Line 4 :---456--------- Line 4
Line 5 :----b—-—-—cececc-- Line 5
il (3840

7l F axan
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Wb Lzl al o5 Slhee Golul » dlle o o an 18 o8l S

(5Ll ¥) (Auxiliary Memory) a5l alasdl> Y-

auxiliary memory: _il> abbl> b 456 gjloo msd ol

S S s b axly pl s 0gzge Sledbl o jls SYL b g YU jas Job a5 Canl enslS Ll Cead )
S S8y Jy el (Lol Al Sl S Ly aldble (f Cead g 008 G 5l 998 (igelS FaeelS oS ool
D08 5 5 omb

Gliel V) (ALU) slate 5 arlns als :F-)

(Arithmetic Logic Unit (ALU)) shic g acwlxe o>l
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wuﬁw.mbl) alasl> 5l Sglae Joee g0 G PVE LR Iy oSl wl;WLYQJL’;Aﬁ.bQ.MLGA 6 S (o

(5Ll Y) (Machine Language) yisle b :0-)

Machine Languages ...l b;

Sogd oo 1) (Bogn Gedle b L SenslS 2

Wigh (g0 iy 55 Yigeeals Gl 138 Cow (S loj 0 JigealS T Qb g sealS o (ile b
ool HI5 a5 wBd oo ewd JFaowlS @ aS cunl (G g a0 5l ol Ao coled jo) slael 5l ol Al puile )b
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Write a program to compute this series up to 100 terms.

Ao Glid 1) o g A dwlbre oz Voo Bl 5 (6 dans a5 dnn g gl 4l p

g 1 1+43 1+4+3+5 1+3+5+4+7
2 274727476 27141648

S =0.0
up = 1.0
down = 2.0
sign =1
for i in range (1, 101)

S =S + sign * (up / down)

sign = -1 * sign

up =up + i * 2 + 1

down = down + i * 2 + 2
print("\nS = ", S)

@AmirkabirJ
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a) Write the function f2() that gets an integer number and
e if this number contains digits 2, 5, or both them, then return multiplication of other non-zero digits
e if this number only contains digits 2, 5, and zero, then return O
e otherwise return -1

00,5 élb,sl,m Waxbwygfzo el a4 b (I

Gl 5 5L Ty Jho e plB)] plo Cralols. il g0 2 L O LY plB)) gol> ja50 doc axil> @
Al )3 5L jao il oo LO LY Jold sac g8l ads 31 @

Jle ls 3 5L 1, -1 woygan! pé o °

f2(m) m
48 82065
0 25255
0 -202
-1 74091

b) Write the main program that gets the positive integer n from the user, then generates n
random numbers in the range (-2000 , 2000) and prints the output of f2() of those numbers.
KW (-2000, 2000) Om olai sae N e g a3 5 LIS 5HHN St 5 usro dae aS S gin sl 4l (o

e L ) a5 5 00,5 Slemla ], F20) b slasl ol 51 oS o gl g 05,5

ol )

o

from random import randrange

n =int (input ("Enter number n:"))

if n <= 0:
print (
else:
for 1 in range(n):
x= randrange (-2000,2000)
print ("f2(",x,")=",f2(x))

"Invalid number")

eols 4ol 2 ()
def f2( n ):
has25 = 0
temp = n
if (temp < 0):
temp = -1 * n
while temp > 0 and
x = temp $ 10
if x == 2 or x == 5:
has25 =1
temp = temp //
if has25
return -1
not025 = 0
p =1
temp = n
if (temp < 0):
temp = -1 * n
while temp > O:
x = temp $ 10
if x !'=2 and x
not025 = 1
p=p*x
temp = temp // 10
if not025 ==
return 0
else:
return p

has?25

=5 and x

1=0:

# Y axan
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What is the output of this program? (jlowld) fcws ) oad ools asliy >g,5 -F

a = 1399
y = 2024
z = 1403
X =2z — a
tl =5+vy // 2 % x
print ("tl =", t1)
print("tl = = x : ", tl == x)
print ("power = ", x ** 2 *x* 2)
print ("floor =", (a - z) // 2 )
print ("conditional assignment = ", y if x else z)
doliy (29,5
tl =5
tl = = x : False
power = 256
floor = -2

conditional assignment = 2024

What is the output of this program? (jlowld) fowus njoad ools asliy o>g,5 -0

def f5(rl1 , x)
if x <=0
return rl
r = x % 10
if rl < r
rl = r
x =x // 10
return( £5(rl, x))

print (" t1 = ", £5(100 % 10, 100 // 10))
print (" t2 = ", £5(1403 % 10, 1403 // 10))
print (" t3 = ", £5(2024 % 10, 2024 // 10))
print (" t4 = ", £5(123456 % 10, 123456 // 10))
print (" t5 = ", £5(789 % 10, 789 // 10))
aoly >9,5

tl =1

t2 = 4

t3 =4

t4d = 6

ts = 9

73 ¥ amao
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What is the output of this program?

n 3

print ("\n Line 1 ,
for i in range
print (i,

print ("\n Line 2 = ",
for i in range
for j in range
print (i,

print ("\n Line 3 ,
for i in range
for j in range
print (i,

print ("\n Line 4 ", end
for 1 in range
for j in range

if 5

print ("\n Line 5 = ",
for 1 in range
for j in range

for k in range (

Line
Line
Line
Line
Line

print (i,

= W R

5

end
3)

")
(_11
end="

n,
")

end
13, 2 * n)
(1, n, 3)
end="' ")

")
(1, :

3y

end
n+ 1,
(1,
end="

= ')
(1, 2)

2)
Js ")

2)
2)

")

(1, n + 1,

(OI i’
")
")

j, end='

end
2 * n)
i, 3)

2, 3y

(1, 13,

(0,
3):
if i >3 >k

print (i, Jj, k, end=' ")

12

1
3
3
7

327627635

Glewel B) Sz 5 00l oold aali s>9> =7

aoli g o>9,5

What is the output of this program?

a 5

for i in range

d:
v

Line
Line
Line
Line

(1, a + 1):
print ("\n Line ", i, end = ' ")
a - 1
i
for j in range (1, i + 1)
print (v, end = ' ")
v =v + d
d=d-1
11
2 2 6
33710
4 4 8 11 13
55 9 12 14 15

Line

@AmirkabirJ
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uguJ«bem

2,00 shie 000 i Ceadle Slae b jS0e5 b4y 55 50 LS )0 oald e Jore (o |y OV lgus Feuly ¢ g DY lgus (5l

Syl el Vg Jlgw y»

Saiis False Jolao 5 lle 5 S5 oS sl Y = +6 93X =2 lis 51-)
(x < 10) and (y > 0)

x < 10 and y > 0

((x = 4) !=vy) or

a)
b)
c)
d) x -4 != vy or vy
e)
f)

<
not ((x > 6) or (y
>:

not (x > 6 or y

>=
2)

y < 3)

2))

a,b (o
c,d(o
ef(o
Slle aen (O

i =25
while True:
if i%0011 == O:
break
print (i)
i+=1

faiS oo Sl 1) golacl az 5 acl =Y

5,6,7,8,9,10 (0
5,6,7,8 9 (0
5,6,7,8 (0

5,6, 7 (O

for 1 in range(4):

for j in range (3):

ifi==
break

44

print (Yi = 7, 1)

oS oo Sz 1) o0 a4z ) 4ol Y

1@
2 (@
3@
4.@
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for 1 in range (1, 11)
for j in range (1, 11 )

if j == i or j == 10 - 1i
print ("*",end="")
else
print (" ",end="")
print ()

WIS o ol ol (gl 2SS L gDy eodle K (O
WS o ol oyl Gla S L Llatee SG (O
WIS o ol ol gl SIS L 0l S (O

S oo Pl o)l Gla ST L a0 cadle S (O

el Gl 4 by @
Oedle by 4 4l (@

Yo maw by 4 aslpy (@
L4s3S Aw o (O

S on o el s 2 1 VU s i S o5 sl f3dle 5 ) Sl -7
s @

ele i (O

e (O

odi3ls  iw (O

Cwl A g V8 slie o sac plas Jolao FYALY sac -V

0XBABA = 00135272 (o
0XDADA = 00155332 (o

OXFADA = 0064218 (o
OXCEDA = 00147332 (o
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from math import sqgrt

for n in range (99, 0, -1):

root = sqgrt (n)
if root == int (root):
print (n)
break
9 @
81 (o
99 (o
-1 @

oS oo 2z |y s00e 4z 55 aal -
for i in range( 5 )
if 1 ==
break
else:
print (1)
else:
print ("Payan")

01234 Payan (o
012345Payan (o
01234 @
012345@

Sl bl 55 ol g 5l Sy plas sl B G t=1(1, 2,4, 3) 51--
print (t[3]) (o

t[3]=4(o

print (max (t)) (o

print (len (t)) (o

v Aadin
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for number in range (5)
print (number, end="',"')

0,1,2,3,4,

-\Y
number = 5
if 1 <= number <= 10:
print ('Great!"')
else:
print ('"Wrong!"')

Great!

-\Y
strings = ['abcefg', 'asssdesde', 'asfghjkl']
for string in strings:
if 'sss' in string:
index = strings.index(string)
strings[index] = '[censored]'

print (strings)

['abcefg', '[censored]', 'asfghjkl']

-\¥

Wordl = 'dummy'
Word2 = 'word'
print (Wordl + Word2)

dummywoxrd

-0
def test():
print ('Line one.')
return
print ('Line2')
X = test ()

Line one.

¢ dadina
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e=1+1/11+1/21 +1/31 + 1/4!1 + ... + 1/10!

#e=1+1/11+1/2! +1/3! + 1/4! + ... + 1/10!

e=1.0

term=1.0

for i in range(1, 11):
term =term/ i
e =e + term

print ‘e =", e)

S 0f Gl g Conad Sy 5o (b geme sl ol o) & b Y
ST 9 g o0 010 55U due ] s il il Comad j0 due HFT LAl oo e S g o
(008 0) 2310 )8 0 3L 15 =1 Wl Canad j0 dus

WO (o0 oyt e 3 A Comnd (Ll B Tasl 51 o (ggmiws 5o
def LinearSearch ( list, n) :
for i in range(len(list)):
if n == list[i]:
break

if n == list[i]:

return i
else :

return -1

list=1[4,5,7,12, 3,6, 5]

i = LinearSearch(list, 5)

print('i = LinearSearch(list, 5) =", i)
I = LinearSearch(list, 3)

print('i = LinearSearch(list, 3) =", i)
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0,1, 1,2,3,5, 8,13, . . . :=2bsguddlos
:Jbo

Fib (0) = 0
fib (1) =1
fib (2) =1
fib (n) = £ib (n-1) + fib (n-2)
def fib (n):

if n<=1

return n
else:

return fib(n-1) + fib(n-2)

e §98 @b 3l eoliiwl b g 438,85 )5 5l gaome due S 45 dpmigh ¢l alip - @

(0305 M) § yad b Comnd LGS 4o due oI LT a5 WSS
Yes 099 O (6999 dus 51 Jlwo jokas
D2 ywled |y No 9994 (5099 due ,51 g

x = int(input("Enter a number : "))

i=0
while fib(i) < x :
i=i+1
if fib(i) ==x:
print(*Index ', x, "is ', i, "in Fibonacci.")
else :
print( X, "is not in Fibonacci.")
iy 390
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